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Var

r :Boolean;
I, m: integer;
j : real;

VAR W :array [ 'a'..'s'] of 'A'.. 'M';

A:=12.6795;
Writeln(a:1:3);
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Var
L1:integer;
j:Boolean;
Begin
1:=1;
repeat
writeln(1);
1:=142;
j:=i1>10;
until j;
end.

Var 1i,j :integer;

Begin

For i:=1 to 10 do
For j:=1 to 10 do

If (1+))<=10 then

Writeln(‘PNU’);
End.
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Var
S: string;
I: integer;
Begin
S:="'abcdef ' ;
For i:=1 to length (s) do
Delete (s, 1, 1);
Write(s);
End.
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Var
X,y : integer;
procedure m ( X: integer; var y : integer );
begin
X:=X+Y;
yi=X-Y;
X:=y*2;
end;
begin
x:=5;  yi=2;
m(y,x);
write ( X, ' LY);
end.
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Var A : set of 5..100;
B :set of 1..100;
Begin

A:=[5..100];
B:=[4..8];

B:=A*B;

Write( ord (7 in B));
IEnd;

False . » True

Type

Ar= array [-3..3] of integer;
X=record

Id:integer;

Y,z:Ar;

G:real;

IEnd;

[Var t,m:x;
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Var
Lj.k,a:set of byte;
Begin
I.=[1,2,4..7]; J.=[3..5]; K:=[1,5,6];
A:=1-j%k - [2,3];
IEnd;
[1,4,7] -

[1,4,6,7] .
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[Function f(N,m:integer):integer;
Begin
If m=0 then
f:=N
else
f:= N+f(N-1,m-1);
[End;
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For .» IF .~ Case .o Repeat — Until . 3!
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Var
L:integer;
X, y:real;

I:=round(x) |
Y :=frac(x) Lo
L:=sqr(trunc(y)) . d

I:=int(y) 3
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X: =12 ;
Succ (X ) ;
Igh: ='B';
red (ch) ;
Write (x,ch) ;
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[For i:=1 to 50 do
If a[i] >= a[i] then
Begin
Temp:=a[51-1] ;
a[S5l-i]:=ali] ;
ali]:=temp ;
End ;
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[Fori:=1 to 5 do
Begin
forj:=1 to 5 do
if i<j then write( i*j :3);

writeln;
IEnd;
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Var

a:array [1..5] of array [byte] of array[Boolean] of char;

egin
Writeln (sizeof(a));
nd.
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